< & ¢@>(rad)
o
=
[¢)]

LR LR R RN RN RN RS R P

TP n (PCA to beamline)

3

3
TP n (PCA to beamline)

llll!{

ggﬁ..n{vmu. +66evt
E egé %ﬁé%‘ﬁ TEORSLTLIER 1000ewt

.............................................

................................................

................................................

................................................

< opJp, > (%)

Ratio

3
TP n (PCA to beamline)

10

< 8d,> (um)
[e]
T

[T T T [ TT T[T T T[T IT[TTT[TTT
1 + t ——t +

3
TP n (PCA to beamline)



	Contents
	Page 1


